
Isohitech Lubrication
Tel:0086 13814034409

30

Accessories

Sleeve of tube

Figure Description Material P.N. I.D.

Spiral sleeve of tube

PP
330001 9

330002 11

PA
330003 9

330004 11

Weaving sleeve of tube

PE
330005 9

330006 11

PA
330007 9

330008 11

High pressure tubes

Figure Description P.N. O.D.

hose working pressure 300bar-grease filled 320000 6

hose working pressure 300bar-empty 320001 6

hose working pressure 300bar-grease filled 320002 9

hose working pressure 300bar-empty 320003 9

hose working pressure 300bar-grease filled 320004 11

hose working pressure 300bar-empty 320005 11

Reusable hose tail for hose

Figure Description P.N. Stud Φ
Hose end sleeve 3210001 9mm

Hose end sleeve 3210005 11mm

Straight Hose end stud 3210002 9mm

Straight Hose end stud 3210006 11mm

90 elbow hose end stud 3210003 9mm

90 elbow hose end stud 3210007 11mm

45 hose end stud 3210004 9mm

45 hose end stud 3210008 11mm



Isohitech Lubrication
Tel:0086 13814034409

31

Tube clamp

Figure Description P.N.
I.D.
mm

Tube clamp with rubber lining

330006 6

330008 8

330010 10

330011 11

330012 12

330015 15

330018 18

330020 20

330022 22

330024 24

330025 25

Plastic tube clamp-single

330008-6 6

330008-8 8

330008-9.5 9.5

330008-10 10

330008-12 12

330008-14 14

330008-16 16

330008-18 18

330008-20 20

330008-25 25

Plastic tube clamp-double

330009-6 6

330009-8 8

330009-9.5 9.5

330009-10 10

330009-12 12

330009-14 14

330009-16 16

330009-18 18

330009-20 20

330009-25 25



Isohitech Lubrication
Tel:0086 13814034409

32

6mm compression Fittings for 9mm hose end

Figure Material Description P.N. TubeΦ d

steel

90 elbow 6mm tube to M6×1 322001 Φ6 M6×1

90 elbow 6mm tube to M8×1 322002 Φ6 M8×1

90 elbow 6mm tube to M10×1 322003 Φ6 M10×1

steel

Straight 6mm tube to M6×1 322004 Φ6 M6×1

Straight 6mm tube to M8×1 322005 Φ6 M8×1

Straight 6mm tube to M10×1 322006 Φ6 M10×1

brass
Straight 6mm tube to M8×1 30086 Φ6 M8×1

Straight 6mm tube to M10×1 30079 Φ6 M10×1

brass

90 elbow 6mm tube to M8×1 30116 Φ6 M8×1

90 elbow 6mm tube to M10×1 30173 Φ6 M10×1

8mm compression Fittings for 11mm hose end

Figure Material Description P.N. TubeΦ d

steel

90 elbow 11mm tube to M6×1 322007 Φ8 M6×1

90 elbow 11mm tube to M8×1 322008 Φ8 M8×1

90 elbow 11mm tube to M10×1 322009 Φ8 M10×1

steel

Straight 11mm tube to M6×1 322010 Φ8 M6×1

Straight 11mm tube to M8×1 322011 Φ8 M8×1

Straight 11mm tube to M10×1 322012 Φ8 M10×1



Isohitech Lubrication
Tel:0086 13814034409

33

Compression bushing

Figure Material P.N.

Out
diameter
of pipe
（D0）

D d
L

(mm)
S

steel

28794
Φ4 Φ4.2 M8×1

12
828795-1 14

28795-2 17
25934 Φ6 Φ6.1 M10×1 13.5 10
28459 Φ8 Φ8.2 M12×1 16 12

28460 Φ10
Φ10.

2
M16×1.5 18 16

90º Elbow Coupling

Figure Material P.N.

Out
diameter
of pipe
（D0）

D d
L

(mm)
S

steel

28455
Φ6

M10×
1

M8×1 22
22×14

28457 M10×1 23

28456
Φ8

M12×
1

M8×1 24
23×16

28458 M10×1 25

Extended Straight coupling

Figure P.N. D d L S

28661 Z1/8 G1/8 22 14

28662 Z1/8 G1/8 35 14

28663 Z1/8 G1/8 75 16



Isohitech Lubrication
Tel:0086 13814034409

34

Reducer coupling

Figure Material P.N. D d S L d5
D

d5

d

L

Steel

25424-1 M10×1
M8×1

13 27
Φ3.9

25424-2 M12×1.5 16 32
25425-1 M10×1

M10×1

13 28

Φ5.6
25425-2 M12×1.5 16

33
25425-3 M14×1.5 18
25425-4 M16×1.5 21
25425-5 M18×1.5 24

D

d5

S

d

L

25427-1 M10×1

NPT1/8

13 22

Φ6
25427-2 M12×1.5 16

2725427-3 M14×1.5 18
25427-4 M16×1.5 21
25428-1 M10×1

NPT1/4

15 26

Φ8
25428-2 M12×1.5 16

31
25428-3 M14×1.5 18
25428-4 M16×1.5 21
25428-5 M18×1.5 24
25429-1 M10×1

R1/8

13 22

Φ5.5
25429-2 M12×1.5 16

2725429-3 M14×1.5 18
25429-4 M16×1.5 21
25430-1 M10×1

R1/4

15 26

Φ8
25430-2 M12×1.5 16

31
25430-3 M14×1.5 18
25430-4 M16×1.5 21
25430-5 M18×1.5 24

D

d5

S

d

L

28451-1 M10×1
NPT1/8

13 22 Φ4
28451-2 M12×1 16 24 Φ6
28452-1 M10×1

R1/4
15 24 Φ4

28452-2 M12×1 16 26 Φ6
28452-3 M16×1.5 21 28 Φ7
28454-1 M10×1

NPT1/4
14 24 Φ4

28454-2 M12×1 16 26 Φ68
28454-3 M16×1.5 18 28 Φ7

Figure Material P.N. D d S L d5

D

d5

S

d

L

Steel

28461 M10×1 M8×1 12 27 Φ3.9
28462 M12×1 M10×1 14 30 Φ5.6

28472-1 M8×1

R1/8

11 20 Φ3.4

28472-2 M10×1 12 22 Φ4



Isohitech Lubrication
Tel:0086 13814034409

35

Spring cover

Figure P.N.
Tube
(mm)

d
(mm)

Material
D

(mm)
B

(mm)
L

（mm）
Surface

30131 Φ4 0.6 65 4.5 Tight 6000 Write Zinc

30132 Φ6 0.6 65 6.5 Tight 6000 Write Zinc

30220 Φ6 0.6 65 6.5 2.4 5000 Black

30133 Φ8 0.6 65 8.8 2.4 5000 Write Zinc

30217 Φ9 0.8 65 9.8 Tight 5000 Write Zinc

30218 Φ11 1 65Mn 11 5 5000 Write Zinc

30219 Φ12 0.8 65 12.5 Tight 2000 Write Zinc

High pressure flexible assemblies

Figure P.N. D d S A L
Working
pressure

(MPa)
30379-400

M10×1 6 10 27.5
400

2530379-500 500
30379-1200 1200
30208-600

M12×1 8 12 30
600

24
30208-1000 1000
30490-400

M10×1 6 10 27.5
400

2530490-500 500
30490-1200 1200
30376-600

M12×1 8 12 30
600

24
30376-1000 1000

Brush

Figure P.N. D L S A B

30102 M8×1 58 13 20 20

Note:We can make based on our customer’s requirement.


	Accessories
	Sleeve of tube
	High pressure tubes
	  Reusable hose tail for hose
	6mm compression Fittings for 9mm hose end
	  8mm compression Fittings for 11mm hose end
	Compression bushing
	90º Elbow Coupling
	Extended Straight coupling
	Reducer coupling
	Spring cover
	High pressure flexible assemblies
	Brush

